ARNTEREFSREHZFHT - AOKER

T 29568 RIBTE
T R29%F6 8 K H BE IZES
THH 5 5 % 2 X5 THHE 5 z H
BAAERARD 29,156 36,310 38,953 75,263 BARAERAO 29,101 36,275 38,888 75,163
SEAERAO 191 274 244 518 SNEAEFERAO 188 276 243 519
KENMmAL 29,347 36,584 39,197 75,781 KENMmAA 29,289 36,551 39,131 75,682
BARAERME - A OEETE (1K) BAAFEREME- AOKETE (IBNE)
T2 BRE 0 5 % T A BRE JiEg B E-q (BEH) (BEH)
AGERT Hh I AREHET 1,155 1,470 1,470 2,940 B = b B 247 297 309 606 E%) TR 5 5 = B X5 THH 5 S =
A2 Hh 1 K 818 881 901 1,782 AR 126 159 174 333 HmeE—TH 774 822 947 1,769 wW&E—TH 168 210 210 420
ZS T 75 Hh 15 AHTFE 195 188 224 412 =H 108 141 152 293 HWEZTH 564 635 730 1,365 WLEZ=TH 0 0 0 0
BT B Hhig N 878 941 1,048 1,989 T TIITEn BF 67 79 93 172 WE=ZTH 270 315 341 656 WILE=TH 0 0 0 0
TR Hhig TR 1,055 1,209 1,390 2,599 K 212 248 247 495 FEMTH 206 253 279 532 WILEMTE 0 0 0 0
=/ hig B/E 480 539 592 1,131 EIEFE 20 25 27 52 HWERTH 752 984 1,058 2,042 WILERTHB 94 146 143 289
K2R EHEL 201 214 269 483 FEFTHT 171 177 208 385 H&EATH 88 105 116 221 WILEARTHB 230 340 352 692
e 104 143 154 297 FrETHh I h#TET 132 147 156 303 HEETHE 205 253 286 539 WLEtETHE 458 703 695 1,398
iR i iR 264 296 355 651 JL FrET 134 176 149 325 HESE—TH 178 212 250 462 WILE/INTE 0 0 0 0
AR e ZAR L 95 98 133 231 FA AT 183 215 252 467 HEE-TH 252 325 333 658 BILEATHB 15 16 24 40
KE 899 1,032 1,067 2,099 il 16 24 29 53 HEB=TH 8 9 9 18 BUE+THE 289 425 445 870
At 2 FE Hhisg dzE 481 529 545 1,074 fin B thig chET 38 36 39 75 HEBMTH 0 0 0 0 wea+—TH 247 373 379 752
0t B s B AR 162 183 185 368 BT 98 103 121 224 HEERLTH 308 362 398 760 WUE+=TH 0 0 0 0
i) ] 199 219 226 445 b 87 89 117 206 HEEARTH 173 200 248 448 WUE+=TH 78 105 93 198
F& Hhig Be 2,859 3,367 3,757 7,124 TRl PG 141 145 188 333 HESETHE 345 384 433 817 INET 1,579 2,318 2,341 4,659
HHE A Hhig HESR 1,928 2,250 2,511 4,761 AR sk ER—TH 53 55 71 126 HEEB/N\THE 368 452 494 946 =11 13,246 17,832 18,781 36,613
BRAE) & i AE)&—~mTH 780 950 1,031 1,981 BRE_TH 291 333 344 677 HEENLTH 296 306 346 652
PR &Rz &EE~ATH 1,481 2,236 2,280 4516 ERR=TH 57 78 86 164 KZINE—TH 333 405 430 835
M B A Hhig MRS 2,322 3,351 3,406 6,757 il 58 52 64 116 KZNEZTH 99 120 126 246
HBEA Hhig HmES 2,297 3,360 3,455 6,815 Lz k 33 18 36 54 KENE=ZTH 348 425 475 900
LA Hhig wIlUE 1,579 2,318 2,341 4,659 it 41 47 47 94 KZEINEWMTH 0 0 0 0
=11 20,232 25,774 27,340 53,114 hnyse BAR ik IhNaE 58 57 63 120 KEINERTH 239 396 385 781
INST 65 63 67 130 RZNBATE 545 764 782 1,546 (&FH)
BARAGFEHF - AOKEHSR (I8 1L5EHET) %7 73 81 96 177 Az)&tTH 324 472 483 955 X5 A 5 #x i
I H 27 39 36 75 KZINE/NTH 372 603 630 1,233 mmEe—TH 167 193 208 401
1T I 4 AR X HE 5 = i HERE 98 103 108 211 KEINEATH 1 1 0 1 EmE&E=TH 143 151 169 320
& M et LiEE 190 245 291 536 FeE] W 111 134 149 283 MEE—TH 508 766 709 1,475 ENmEE=TH 141 144 169 313
FafaH 416 550 600 1,150 AR 94 102 131 233 MEEZTH 127 205 195 400 FENEEmTH 117 133 150 283
J6 3 B #hisg FEE 417 573 587 1,160 i) 46 48 53 101 MWRE=TH 246 340 376 716 FEINZEERTH 53 60 58 118
o Efhig BETE 663 865 896 1,761 IR Hhig B 33 37 38 75 MWREMTH 262 345 365 710 EmnE&E/RTH 165 179 203 382
HEF 53 52 79 131 BEKE& 62 64 77 141 MEERTH 273 394 405 799 mAmEaetTHE 154 167 200 367
= B | #o1] 137 175 182 357 IhEF 72 73 94 167 MEENRTH 382 541 549 1,090 EmEa/\TH 186 208 233 441
B 236 339 365 704 mpi 41 48 58 106 MWEREETH 299 466 472 938 EmEaenTE 188 210 235 445
bR 44 40 68 108 B4 36 39 45 84 MEE/NTH 225 294 335 629 mnEs+TH 179 204 214 418
tm1&E 52 72 90 162 = 37 40 48 88 m\EE—TH 279 310 319 629 EmxEe+—TH 251 289 290 579
tin2& 134 151 198 349 B/ 12 14 17 31 HWMEE-TH 373 542 557 1,099 EmE&sE+=TH 217 269 264 533
LRt ERthis L+IR3F 72 95 112 207 N 5 5 4 9 WEE=TH 364 567 602 1,169 Emxe+=TH 149 179 184 363
FR4TE 53 66 74 140 7/ 32 39 43 82 wBEAEMTH 300 452 477 929 Emxae+mTE 121 137 168 305
LIAsE 102 135 139 274 BTF 22 28 28 56 W\EERTE 375 594 616 1,210 Emxe+ETH 138 170 166 336
LIH6e&E 158 178 208 386 L 2 ITFF 15 16 21 37 BEBANTH 329 587 556 1,143 =11 2,369 2,693 2,911 5,604
+H7&E 69 83 85 168 3 10 13 11 24 B\EEtTH 277 308 328 636
L inraEbitig +in8&E 92 118 118 236 =% 9 7 9 16 HwmEE/\TH 0 0 0 0
+IHo%E 109 121 136 257 g /2 5 3 3 6 INET 11,667 15,514 16,440 31,954
EH10FE 90 99 122 221 N 13 11 15 26
WERXsN 29 28 32 60 it 30 37 46 83
= Re X 44 6 4 6 10 853 45 53 72 125
R4 69 56 73 129 FINTE & i EmnEs 2,369 2,693 2,911 5,604
aEt 3,191 4,045 4,461 8,506 =1l 5,733 6,491 7,152 13,643




